Homework — Polynomial End Behavior

Fill in the blanks for the End Behavior for each of the following functions by looking at the degree & leading

coefficient of each polynomial.

1 F(¥)=x>-5x

EVEN
(CPOSITIVE®r NEGATIVE leading coefficient

As x —» —oo, f(x) ST
As x = oo, f(x) %Q

5 F(X)=x*—4x® +x

EVENDr ODD

or NEGATIVE leading coefficient
Asx - —oo, f(x) - >
As x — +oo, f(x) = (s

3 F(X)=—x*+3x+1

<EVEN®r ODD
POSITIVE o NEGATIVEleading coefficient

Asx —» —oo, f(x) » 2

Asx = oo, f(x) » _ &

4 F(X)=4x>-3x* +5x-2

EVENr ODD
®OSITIVE Qs NEGATIVE leading coefficient

Asx - —oo, f(x) -2
Asx = +oo, f(x) > S2.

5. f(X)=-x"+1

CEVEN st ODD
POSITIVE or leading coefficient

As x - —oo, f(x) > _ -

As x = +oo, f(x) > _ oo

6. F(X)=—x>-3x°+2

EVEN OI(ODE
POSITIVE oreading coefficient

O

As x - +oo, f(x) > 2

Asx - —oo, f(x) -

2 f(x)=x+12

EVEN 0@
@or NEGATIVE leading coefficient

As x » —oo, f(x) » _°Z

As x - +oo, f(x) - 2

g F(x)=-x%+9x° —2x*

(EVENor ODD
POSITIVE GENEGATIVE leading coefficient

Asx - —oo, f(x) » L
Asx - 4o, f(x) > __ S

0. T(X)=-2x>+5x°

EVEN or ODD>
POSITI leading coefficient

As x » —oo, f(x) » <<

Asx — +oo, f(x) » =

10. f(X) = 6X3 +1
EVEN orODD>
or NEGATIVE leading coefficient

As x - —oo, f(x) -_ =

Asx - +oo,f(x) > C=



